SO GIAO DUC VA PAO TAO
[ DE THI SO 10-20 ]

(Dé thi gom 02 trang)

PE THI THU TIENG ANH VAO LOP 10 THPT
NAM HQC: 2014-2015
Thoi gian: 60 phut (khong ké thoi gian phat deé)

HO VAtEN: ...t e Loi din thi sinh: Thi sinh lam bai truc tiép vao dé‘vthi nay.
L('}p 36 bio danh Thi sinh khong dwoc sv dung bat cuw tai liéu nao ké ca tir dién.
Diém Giam khao Giam thi 1 Gidm thj 2

(1-3) Choose the word whose underlined part is pronounced differently from that of the others: (1.5 pts)

1. A faded B. owned
2. A chair B. chemist
3. A.regularly B. minority

C. surrounded D. excited
C. cheap D. child
C. style D. scenery

(4-6) Circle the word whose main stress is placed differently from that of the others in the same group:

(0.75 pts)
4. A advice B. daughter C. pastime D. summer
5. A offer B. apply C. persuade D. reduce
6. A. compulsory B. population C. occasionally D. immediate
(7-16). Circle the best option to complete the following sentences:(5 pts)
7. Iwish I English well.
A. can speak B. will speak C. could speak D. spoke
8. She looks very today.
A. happy B. happily C. happiness D. more happy
9. The telephone by Alexander Bell.
A. invent B. invented C. is invented D. was invented
10. This building is than that one.
A. beautiful B. so beautiful C. more beautiful D. beautiful as
11. If you work hard, you in the final examination
A. succeed B. will succeed C. would succeed D. had succeeded
12. He the piano when he was 10.
A. play B. played C. has played D. had played
13. They a new shop since last week.
A. opened B. were opening C. have opened D. would open
14. We have been pen pal 3 years
A.in B.on C. since D. for
15. I like the woman I met at the party last night.
A. that B. which C. who D .whose
16. the weather is predicted not to be good today, they decide to go swimming
A. because of B. although C. In spite of D. since
(17-24). Read the passage and choose the best answers: (4 pts)
Television is an important (17) of the 20™ century. It has been so (18) that now we
can’t (19) what life would be like if there were no television. Television is a major mean (20)
communication. It brings pictures and sound from around the world into millions of home. TV
(21) can see and learn about people, places and things in faraway lands. TV widens our (22)

by introducing us to new ideas which may lead us to new hobbies and recreations. In addition to
the news, TV provides us with a variety of programs that can satisfy every taste. Most people now like
(23) their evenings watching TV. It is more (24) for them to sit at home watching TV than
to go out for amusement elsewhere.



17. A. invent B. invented C. invention D. inventor

18. A. popularity B. popular C. popularly D. popularize

19. A. imagination B. imaginative C. to imagine D. imagine

20. A.of B.in C.to D. with

21. A. viewers B. lookers C. seers D. watchers

22.  A. know B. knowledge C. knowing D. known

23. A. spent B. spend C. spending D. to spend

24. A. convenience B. convenient C. inconvenient D. inconvenience

(25-27). There is a mistake in the four underlined parts of each sentence. Circle (A or B,C D) (1.5 pts
25. Although Mr. Minh’s house is far from the office, but he walks to work every day.

A B C D
26. We suggest that he wouldn’t go out too much at nights.
A B C D
27. Mary asked me how did I go to school every day.
A B C D
(28-31) Put the words in brackets into their correct form.(2 pts)
28. Their has lasted a lifetime. (friend)
29. Itis hot here. (extreme)
30. ’'m that people have spoiled this area. (disappoint)
31. I’m looking forward to from you. (hear)

(32-35) Read the text and decided whether the following statements are true(T) or false (F)(2 pts)

When you go to a party in Atlantica, don’t bring a gift. If you do so, your hosts will believe that you
think they are poor. Never arrive on time in Atlantica. Come one or two hours late because your hosts will
not be ready on time themselves. In Atlantica, all schedules (even airline schedules) run on “elastic time”.

At dinner time, eat only what the hosts serve you. If you ask for something special, the hosts try to
get what you want, even if they have to go out to the store that evening. And never look at the other guests
while you eat. Instead, look down at your food. Use a spoon for all foods, even hard foods like fried meat.

Statements True False

32. A bottle of wine is an example of a good gift to bring to a party in Atlantica.

33. Never be late to a party in Atlantica.

34. “Elastic time” probably means t that schedules in Atlantica are not exact.

35. You use a spoon for all foods when you eat.

(36 — 39). Finish the second sentence so that it has the same meaning as the first. ( 4 pts)

36. Our teacher has suggested a new idea.

=2 A NIEW TACA .ttt et et ettt
37. My English isn’t as good as yours.

=2 YOUE ENGLISH IS .eeiiiiiiiie ettt ettt et as
38. If he doesn’t study hard, he will fail the exam.

T2 UTESS ettt et et et eh e et et ea e et e e e e e
39. The taxi driver was friendly. He took me to the airport.
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Thoi gian: 60 phut (khong ké thoi gian phat deé)

(Dé thi gom 02 trang)

HO VAtEN: ...t e Loi din thi sinh: Thi sinh lam bai truc tiép vao d‘é‘vthi nay.
L(';'p Sé bio danh Thi sinh khong dwoc sv dung bat cuw tai liéu nao ké ca tir dién.
biem Giam khao Giam thi 1 Giam thi 2

(1-3) Choose the word whose underlined part is pronounced differently from that of the others: (0.75

pts)
1. A faded B. owned C. surrounded D. excited
2. A chair B. chemist C. cheap D. child
3. A. regularly B. minority C. style D. scenery
(1-6) Circle the word whose main stress is placed differently from that of the others in the same group:
(0.75 pts)
4. A. advice B. daughter C. pastime D. summer
5. A. offer B. apply C. persuade D. reduce
6. A. compulsory B. population C. occasionally D. immediate
(7-16). Circle the best option to complete the following sentences:(5 pts)
7. I'wish I English well.
A. can speak B. will speak C. could speak D. spoke
8. She looks very today.
A. happy B. happily C. happiness D. more happy
9. The telephone by Alexander Bell.
A. invent B. invented C. is invented D. was invented
10. This building is than that one.
A. beautiful B. so beautiful C. more beautiful D. beautiful as
11. If you work hard, you in the final examination
A. succeed B. will succeed C. would succeed D. had succeeded
12. He the piano when he was 10.
A. play B. played C. has played D. had played
13. They a new shop since last week.
A. opened B. were opening C. have opened D. would open
14. We have been pen pal 3 years
A.in B.on C. since D. for
15. I like the woman I met at the party last night.
A. that B. which C. who D .whose
16. the weather is predicted not to be good today, they decide to go swimming
A. because of B. although C. In spite of D. since
(17-24). Read the passage and choose the best answers: (4 pts)
Television is an important (17) of the 20™ century. It has been so (18) that now we
can’t (19) what life would be like if there were no television. Television is a major mean (20)
communication. It brings pictures and sound from around the world into millions of home. TV
(21) can see and learn about people, places and things in faraway lands. TV widens our (22)

by introducing us to new ideas which may lead us to new hobbies and recreations. In addition to
the news, TV provides us with a variety of programs that can satisfy every taste. Most people now like



(23) their evenings watching TV. It is more (24) for them to sit at home watching TV than
to go out for amusement elsewhere.

17. A. invent B. invented C. invention D. inventor

18. A. popularity B. popular C. popularly D. popularize

19. A. imagination B. imaginative C. to imagine D. imagine

20. A.of B.in C.to D. with

21. A.viewers B. lookers C. seers D. watchers

22. A know B. knowledge C. knowing D. known

23. A. spent B. spend C. spending D. to spend

24. A. convenience B. convenient C. inconvenient D. inconvenience

(25-27). There is a mistake in the four underlined parts of each sentence. Circle (A or B,C D) (1.5 pts
25. Although Mr. Minh’s house is far from the office, but he walks to work every day.

A B C D
26. We suggest that he wouldn’t go out too much at nights.
A B C D
27. Mary asked me how did I go to school every day.
A B C D
(28-31) Put the words in brackets into their correct form.(2 pts)
28. Their _ friendship has lasted a lifetime. (friend)
29. Itis extremely hot here. (extreme)
30. I’'m _disappointed that people have spoiled this area. (disappoint)
31. I’'m looking forward to_ hearing from you. (hear)

(32-35) Read the text and decided whether the following statements are true(T) or false (F)(2 pts)
When you go to a party in Atlantica, don’t bring a gift. If you do so, your hosts will hosts will not be
ready on time themselves. In Atlantica, all schedules (even airline schedules) run on “elastic time”.

At dinner time, eat only what the hosts serve you. If you ask for something special, believe that you
think they are poor. Never arrive on time in Atlantica. Come one or two hours late because your the hosts
try to get what you want, even if they have to go out to the store that evening. And never look at the other
guests while you eat. Instead, look down at your food. Use a spoon for all foods, even hard foods like fried
meat.

Statements True False
32. A bottle of wine is an example of a good gift to bring to a party in Atlantica. F
33. Never be late to a party in Atlantica. F
34. “Elastic time” probably means that schedules in Atlantica are not exact. T
35. You use a spoon for all foods when you eat. T

(36 — 39). Finish the second sentence so that it has the same meaning as the first. ( 4 pts)
36. Our teacher has suggested a new idea.

=> A new idea has been suggested by our teacher

37. My English isn’t as good as yours.

=> Your English is better than mine.

38. If he doesn’t study hard, he will fail the exam.

=> Unless you study hard, you will fail the exam

39. The taxi driver was friendly. He took me to the airport.

=> The taxi driver who took me to the airport was very friendly.




ANSWERS AND MARKS
(1-3) Choose the word whose underlined part is pronounced differently from that of the others: (0.75
pts) (0,25 for each correct answer)
1. B. owned 2. B. chemist 3. C. style
(4-6) Circle the word whose main stress is placed differently from that of the others in the same group:

(0.75 pts) (0,25 for each correct answer)
4. A. advice 5. A. offer 6. B. population
(7-16). Circle the best option to complete the following sentences: (5 pts)
7.C 8. A 9.D 10.C 11.B 12.B 13.C 14.D 15.A 16.B
(17-24). Read the passage and choose the best answers: (4 pts) (0,5 for each correct answer)

17. C. invention 18. B. popular 19. D. imagine 20. A. of

21.A. viewers 22. B. knowledge 23. D. to spend 24. B. convenient
(25-27). There is a mistake in the four underlined parts of each sentence. Circle (A or B,C D) (1.5 pts
(0,5 for each correct answer)

25.C 26.B 27.B

(28-31) Put the words in brackets into their correct form.(2 pts) (0,5 mark for each correct answer)
28. friendly 29. extremely 30. disappointed ~ 31. hearing
(32-35) Read the text and decided whether the following statements are true(T) or false (F)(2 pts)
(0,5 mark for each correct answer)
32.F 33 F 34T 35T
(36 — 39). Finish the second sentence so that it has the same meaning as the first. ( 4 pts)
(1mark for each correct answer)
36. A new idea has been suggested by our teacher.
37. Your English is better than mine.
38. Unless he studies hard, he will fail the exam.
39. The taxi driver who took me to the park was friendly.




